[image: image1.png]sugar

sugar




EOC Readiness Warm-up
2.01 Biochemistry

1. Which of these are the repeating units that form a DNA molecule?

a. fatty acids 
b.     nucleotides 

c.     amino acids 

d.     chromosomes 

2. The cell wall of a plant helps the plant cell maintain its shape. What is the main structural component of the cell wall of a plant?

a. lipid 

b.     cellulose 


c.     amino acid 

d.     nucleic acid 
3. Which statement describes the major role of lipids within a cell?

a. They cause DNA to replicate.
b. They move RNA in the cytoplasm. 
c. They catalyze chemical reactions in the cell cytoplasm. 
d. They are the main structural components of membranes. 
4. Which of these correctly matches the molecule with its function?

a. lipid—stores genetic information 
b. vitamin—supplies energy to cells 
c. enzyme—speeds up chemical reactions 
d. carbohydrate—manufactures cell membranes 
5. A scientist removed the cell membranes from bacteria cells in a culture. She analyzed the cell membranes for specific molecules. Which of these was probably the most common type of molecule present in the bacteria cell membranes?

a. lipid 

b.     amino acid 

c.     nucleic acid 

d.     carbohydrate 
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EOC Readiness Warm-up

2.01 Biochemistry
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2. Amylase is an enzyme that allows the human body to digest starch. Which of these diagrams best represents part of the structure of amylase?
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3.  Refer to the answer choices in #2 above.  Which diagram represents the structural components of starch?


a. 

b. 

c. 

d.
[image: image19.emf]EOC Readiness Warm-up

2.01 Biochemistry
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a. If a scientist wanted to test for a protein, what test would they use? 

 Benedicts/Biurets/Iodine/Brown Paper Bag
b. If a substance leaves a greasy stain on a brown paper bag, what has just occurred?   






A (positive/negative) test for __________________________!
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If a scientist wanted to test for a simple sugar, what test would they use? 
Benedicts/Biurets/Iodine/Brown Paper Bag
d. [image: image23.png]


 If a scientist places iodine on a corn and observes a color change, what did they just witness?   




A (positive/negative) test for __________________________!
2. Molecule A is part of a protein molecule, also known as a _________________________ chain.  The triangles, circles, and squares represents building blocks of a protein, also known as ___________________ _____________. 

3. Molecule B is a DNA double helix, what type of organic molecule is DNA? _____________________

4.  How are Molecule A and B related? ________________________________________________________________________

________________________________________________________________________________________________________________

5. Hormones, enzymes, hemoglobin, receptor molecules are all examples of what type of molecules? 


Amino acids/anibodies/diffusion agents/genetic material
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EOC Readiness Warm-up

2.01 Biochemistry
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a. If a scientist wanted to test for a protein, what test would they use? 

 Benedicts/Biurets/Iodine/Brown Paper Bag
b. If a substance leaves a greasy stain on a brown paper bag, what has just occurred?   






A (positive/negative) test for __________________________!
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below.
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(1) diffusion through cell membranes
(2) fertilization of a sex cell

(3) sequencing of amino acids in cells When he switched to high power, the o
(4) increasing the number of cell in an organism was o longer visible. This most likely happened
because switching to high power made the
36 What is the volume of water represented in the (1) field too bright to see the organism
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If a scientist wanted to test for a simple sugar, what test would they use? 
Benedicts/Biurets/Iodine/Brown Paper Bag
d.  If a scientist places iodine on a corn and observes a color change, what did they just witness?   




A (positive/negative) test for __________________________!
2. Molecule A is part of a protein molecule, also known as a _________________________ chain.  The triangles, circles, and squares represents building blocks of a protein, also known as ___________________ _____________. 

3. Molecule B is a DNA double helix, what type of organic molecule is DNA? _____________________

4.  How are Molecule A and B related? ________________________________________________________________________

________________________________________________________________________________________________________________

5. Hormones, enzymes, hemoglobin, receptor molecules are all examples of what type of molecules? 


Amino acids/anibodies/diffusion agents/genetic material
EOC Readiness Warm-up

2.02 Cell Structure and Function

The diagram below represents a cell found in some complex organism. The enlarged section represents an organelle, labeled X, found in this cell. 
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section represents an organelle, labeled X, found in this cell. Use Only

Describe the function of organelle X and explain how it is important to the survival of

the cell. In your answer, be sure to:

o identify organelle X [1]

o state the process that this organelle performs [1]

o identify the fwo raw materials that are needed for this process to occur [1]

o identify one molecule produced by this organelle and explain why it is important to

the organism  [2]

pone I [Cnknonn Zone [ Y

& welcome toth... | & Charlotte-teck... | (o] Microsoft Powe... | (3 Removable Disk...| &4 save As

1 start| [19]3 Mcrosoft O... +|[ & heeps/ e,

(@@

2 [eserm




Describe the function of organelle X and explain how it is important to the survival of the cell. In your answer, be sure to:

Identify the organelle [1]

State the process that this organelle performs [1]

Identify the two raw materials that are needed for this process to occur.  These are the reactants. [1]

Identify one molecule produced by this organelle and explain why it is important to the organism [2]

________________________________________________________________________________________________________________________________________________________________________________________________________________________

________________________________________________________________________________________________________________________________________________________________________________________________________________________

________________________________________________________________________________________________________________________________________________________________________________________________________________________

____________________________________________________________________________________________________________
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Describe the function of organelle X and explain how it is important to the survival of the cell. In your answer, be sure to:

Identify the organelle [1]

State the process that this organelle performs [1]

Identify the two raw materials that are needed for this process to occur.  These are the reactants. [1]

Identify one molecule produced by this organelle and explain why it is important to the organism [2]

________________________________________________________________________________________________________________________________________________________________________________________________________________________

________________________________________________________________________________________________________________________________________________________________________________________________________________________

________________________________________________________________________________________________________________________________________________________________________________________________________________________

____________________________________________________________________________________________________________


EOC Readiness Warm-up

2.02 Cell Structure and Function

1) Identify the cell below as Prokaryotic or Eukaryotic.  Tell how you knew. ___________________________________________ ___________________________________________________________________________________________________[1]
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EOC Readiness Warm-u
2.03 Cell Transport

The diagram below shows two different kinds of substances, A and B, entering a cell. 
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1) ATP is most likely being used for [1]
a) Substance A to enter the cell

b) Substance B to enter the cell

c) Both substances to enter the cell

d) Neither substances to enter the cell

Justification: ______________________________________________________________________________________________ [1]
2) Some of the pain from a sore throat is caused by swelling of moist throat tissue. A common remedy for a sore throat is to gargle (rinse the throat tissue) with salt water. Explain why gargling with salt water would be expected to relieve the pain of a sore throat. You must discuss cell transport in your answer! [1]
____________________________________________________________________________________________________________


EOC Readiness Warm-up
2.03 Cell Transport
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1) ATP is most likely being used for [1]
a) Substance A to enter the cell

b) Substance B to enter the cell

c) Both substances to enter the cell

d) Neither substances to enter the cell

Justification: ______________________________________________________________________________________________ [1]
2) Some of the pain from a sore throat is caused by swelling of moist throat tissue. A common remedy for a sore throat is to gargle (rinse the throat tissue) with salt water. Explain why gargling with salt water would be expected to relieve the pain of a sore throat. You must discuss cell transport in your answer! [1]
____________________________________________________________________________________________________________

EOC Readiness Warm-up
2.03 Cell Transport

1) The tendency of organisms to maintain a stable internal environment is called

a. cellular organization
b.    homeostasis

c.    metabolism


d.    reproduction

2) This is the process in which molecules that are too large to pass through the lipid bilayer pass through protein channels.

a. Passive transport

b.   Osmosis

c.    Facilitated diffusion

d.    Active transport

3) The diagram below shows the relative concentration of molecules inside and outside of a cell. Which statement best describes the general direction of diffusion across the membrane of this cell?

a. Glucose would diffuse into the cell.

b. Protein would diffuse out of the cell.

c. Oxygen would diffuse into the cell. 

d. Carbon dioxide would diffuse out of the cell.

4) Which of the following process require energy?

a. Diffusion

b. Facilitated Diffusion

c. Osmosis

d. Active transport

5) Look at the diagram of the beaker to the right. In this diagram, which way would the particles move?

a. From left to right

b. From right to left

c. The particles will not move
d. The particles will move equally in both directions
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EOC Readiness Warm-up
2.04 Enzymes

1) The graph to the right shows the effect of substrate concentration on the action of enzyme X.  This enzyme is functioning at its optimal temperature, 30oC and its optimal pH, 5.5.

When the substrate concentration increases from 0.4% to 0.5%, the rate of the reaction _________. [.5]

a. Decreases


c.    Increases




b.  Remains the same

d.    Increases, then decreases

2) State/describe what would most likely happen to the rate of enzyme action if the temperature were reduced (decreased) by 10 degrees.  Support your answer. [1] _______________________________________________________________ __________________________________________________________________________

3) List at least 4 different characteristics (properties) of enzymes. [2]

a) ____________________________________________________________

b) ____________________________________________________________

c) ____________________________________________________________
d) ____________________________________________________________
4) What is the opitimal pH for Trypsin? _____  Is this in the range of acids, bases, or neutral? [1]
5) At what pH does Pepsin denature? ____ [.5]
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EOC Readiness Warm-up

2.05 Bioenergetic Reactions

1. What is the difference between an autotroph and a heterotroph?(1 pt)

________________________________________________________________________________________________________________________________________________________________________________________________
2. Is a fungus an autotroph or a heterotroph?  (circle) (1 pt)

3. Write the EQUATION FOR PHOTOSYNTHESIS: (1 pt)
( 
Label products & reactants (1 pt)

4. In what organelle does photosynthesis take place? (1 pt) ________________________________________

EOC Readiness Warm-up

2.05 Bioenergetic Reactions

1. Write the EQUATION FOR RESPIRATION: (1 pt) 

( 

Label products & reactants (1 pt) 
2. In what organelle does aerobic respiration take place?______________________________________(1 pt)

3. List 2 factors affect the rate of photosynthesis? Hint: There are five! (1 pt)

______________________________________________________________________________

______________________________________________________________________________


EOC Readiness Warm-up

2.05 Bioenergetic Reactions

1. What structure is labeled X in the diagram? ______________________ (1 pt)
2. What enters through this structure?  __________________ (1 pt)
3.  What exits? __________________ (1 pt)
4. What is the main role of stomata in plants?  (1 pt)
a. Regulation/Homeostasis

b. Storage

c. Synthesis

d. Reproduction

EOC Readiness Warm-up

2.05 Bioenergetic Reactions

1. The products of photosynthesis are the

A. Products of respiration

C. Reactants of respiration

B. C. Products of transpiration
D.  Reactants of transpiration

2. If there was no more carbon dioxide in the atmosphere, how would it affect plants?

A. They would no longer do photosynthesis

C.    They could no longer make ATP

B. They could no longer do cellular respiration
D.    They would use the carbon dioxide molecules in water 
3. What colors of light are used by the chlorophyll to perform photosynthesis?

A. Yellow and Green

B. Red and Blue

C.   Orange and Violet

D. Green and Blue


4. Which of the following statements is correct about the two reactions shown to the right below?

A. Oxygen is used to release energy during photosynthesis

B. Sugar is broken down to release energy during respiration

C. Water is broken down to release energy during respiration

D. Carbon dioxide is used to release energy during photosynthesis

5. A diagram of the carbon cycle is shown to the right.

What product of photosynthesis and reactant of respiration belongs in the box to complete the cycle?

A. Hormones

C.   Chlorophyll

B. ATP and ADP

D.   Glucose and oxygen

EOC Readiness Warm-up

3.01 DNA, Protein Synthesis, Gene Regulation

The diagram below represents a portion of a DNA molecule.
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13 The cells that make up leaves on a tree are
genetically identical, yet the leaves often have
different shapes and sizes, as shown in the
diagram below.

Leaves of White Oak (Quercus alba)

¥¥

Top leaves Bottom leaves
Which statement best explains this difference in
leaf appearance?

(1) The leaves at the top of the tree get more
sunlight, causing the genes in their cells to
be expressed differently.

(2) The genes in the cells of leaves at the top of
the tree are destroyed by sunlight, causing
the leaves to stop growing.

(3) The leaves near the bottom of the tree have

16 The diagram below represents a portion of a
DNA molecule.
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The letters represent different types of

(1) sugar molecules
(2) molecular bases

(3) enzymes
(4) proteins

17 Cotton plants produce seeds that contain
high- q\m]ltv protein. This plo(em could be used
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4. The letters represent different types of 

(1) sugar molecules 

(2) molecular bases

(3) enzymes 

(4) proteins

5. If 10% of a DNA sample is made up of thymine, T, what percentage of the sample is made up of cytosine, C?

(1) 10% 

(2) 80%

(3) 90% 

(4) 40%

Part of a molecule found in cells is represented below. 

3. Which process is most directly affected by the arrangement of components 1 through 4?

a) diffusion through cell membranes

b) fertilization of a sex cell

c) sequencing of amino acids in cells

d) increasing the number of cells in an organism

EOC Readiness Warm-up

3.01 DNA, Protein Synthesis, Gene Regulation
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Every cell in cach of these structures contains

(1) equal amounts of ATP
(2) identical genetc information
(3) proteins that re all identical
(3) organelles for the synthesis of gucose:





2. Which of the following could be a result of the process of DNA replication?

a. TTAAGCC

b. UUCGAC

c. CCUGAC

d. UUUGCGC

3. The presence of DNA is important for cellular metabolic activities because DNA
a. Directly increases the solubility of nutrients
b. Directs the production of proteins 
c. Is a structural component of cell walls
d. Is the major component of cytoplasm

4. Weak hydrogen bonds are important because

a. They help keep DNA shaped in a double helix

b. They allow the enzyme to put the DNA strands back together

c. They allow the enzyme to split the molecule of DNA 

d. They make DNA water soluble

5. Which of the following is true about the strands of a newly replicated molecule of DNA?

a. One strand is new and the other strand is part of the original molecule

b. Both sugar-phosphate strands are conserved and are joined with all new bases

c. Both of the new strands contain all new bases

d. Four new molecules of DNA are created by replicating one original DNA molecule


EOC Readiness Warm-up

3.01 DNA, Protein Synthesis, Gene Regulation
1. mRNA will decode the message of DNA in which of the following:

a. Ribosome

b. Golgi apparatus

c. Cell membrane

d. Nucleus

2. Which nitrogenous bases make up a RNA molecule?

a. A, U, C, G

b. T, A, C, G

c. A, B, C, D

d. A, T, C, E 

3. Which of the following is essential for protein synthesis?

a. tRNA

b. Spindle fibers

c. Glucose

d. Golgi apparatus

4. If you are given a microscope to analyze protein synthesis, when would you be most likely to notice the molecule rRNA?

a. During transcription

b. During DNA replication

c. During translation

d. During nuclear separation

5. Fill in the blanks.

On a ______ strand, there is one amino acid at one end and _____ consecutive bases make up an anti-codon at the other end

a. tRNA, 4

b. DNA, 4
c. mRNA, 3
d. tRNA, 3

EOC Readiness Warm-up

3.01 DNA, Protein Synthesis, Gene Regulation
1. If a biologist is analyzing transcription of protein synthesis and identifies the segment ACCTCG of a DNA molecule, he or she will most likely find which of the following?

a. ACCTCG

b. TGGAGC

c. UGGAGC

d. ACCUGC
2. Transcription of the DNA sequence below: AAGCTGGGA would most directly result in which of the following?
a. 3 amino acids
b. tRNA strand with the base sequence UUCGACCCU
c. mRNA strand with the sequence UUCGACCCU
d. mRNA strand with the sequence TTCGACCCT
3. Because of exposure to radiation, the nitrogen base adenine is substituted for cytosine in a DNA molecule.  This could result in a 
a. termination of adenine.
b. mutation.
c. transformation.
d. replication.  

4. Why is mRNA an important molecule in the process of protein synthesis?

a. It supplies the amino acids needed for protein synthesis

b. It provides the instructions for making proteins

c. It carries the code for making proteins out of the nucleus to the rest of the cell

d. It bonds the amino acids together to make proteins.

5. Sarah spent many hours every summer lying by the pool tanning.  Over time, the exposure to high amounts of radiation caused her skin cells to stop regulating their cell division.  What is a very possible outcome of the effect of the environment on her skin cells?

a. All of her DNA will be mutated.

b. All of the DNA in the skin cells may be mutated and become cancerous.

c. Some of Sarah’s skin cells will stop dividing.
d. Some of her skin cells will be unable to regulate cell division and multiply uncontrollably as cancer.
EOC Readiness Warm-up

3.02 Cell Division & Reproduction
The diagram below represents some stages in the life cycle of humans. 

The numbers in the diagram represent various processes in the cycle.
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Base your answers to questions 67 and 68 on the information below and on your knowledge of biology.

The diagram below represents some stages in the life cycle of humans. The numbers in
the diagram represent various processes in the cycle.

S

Fetus 2’ sperm Egg

\ Zygote

67 State how processes 1 and 2 affect the amount of genetic information provided by a parent to its offspring. [1]

68 State how process 3 affects the amount of genetic information an offspring receives. [1]
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1) Identify the process occurring at steps 1 and 2. [1]
__________________________________

2) Identify the process occurring at step 3: [1]

__________________________________

Name: ____________________________


Score: ___/ 5





Name: _______________________________


Score: ___/ 5





Name: _______________________________


Score: ___/ 5





1. Which number in the diagram represents:


Sugar _____________________	Base ______________________


Phosphate ________________	Nucleotide ________________





4. If 15% of a DNA sample is made up of thymine, T, what percentage of the sample is made up of cytosine, C?


(1) 15% 


(2) 70%


(3) 35% 


(4) 85%





5. Part of a molecule found in cells is represented below. 


�





Which process is most directly affected by the arrangement of components 1 through 4?


diffusion through cell membranes


fertilization of a sex cell


sequencing of amino acids in cells


increasing the number of cells in an organism








Name: _______________________________


Score: ___/ 5





A





B





Name: _______________________________


Score: ___/ 5





A





B











Name: _______________________________


Score: ___/ 5











Name: _______________________________


Score: ___/ 5





Name: _______________________________


Score: ___/ 5





2) What type of organism does this cell most likely belong to?


	a.  plant		b.  yeast		c. animal		d. bacteria 





Explain how you can tell: _____________________________________________ ________________________________________________________________[1]





3) Match each cell structure with its correct function. [1]


___  chloroplast			a. releasing energy


___ mitochondrion		b. synthesizing proteins


___ vacuole			c. maintaining homeostasis


___ plasma membrane		d. producing food


___ ribosome			e. storing water, food, and wastes





List 3 differences between a plant cell and an animal cell. [2]


__________________________________________________________________________________________________________________________________________________________________________________________





Name: _______________________________


Score: ___/ 5





2) What type of organism does this cell most likely belong to?


	a.  plant		b.  yeast		c. animal		d. bacteria 





Explain how you can tell: _____________________________________________ ________________________________________________________________[1]





3) Match each cell structure with its correct function. [1]


___  chloroplast			a. releasing energy


___ mitochondrion		b. synthesizing proteins


___ vacuole			c. maintaining homeostasis


___ plasma membrane		d. producing food


___ ribosome			e. storing water, food, and wastes





List 3 differences between a plant cell and an animal cell. [2]


__________________________________________________________________________________________________________________________________________________________________________________________





Name: _______________________________


Score: ___/ 5





First things first…


Osmosis: ___________ moves from _________ to _________. Protein? _____ Energy? ______ [.5]





Diffusion: ______________________________ moves from ________ to ________. Protein? _____ Energy? _____ [.5]





Facilitated Diffusion: ___________________ moves from ________ to ________. Protein? _____ Energy? _____ [.5]





Active Transport: ______________________ moves from ________ to ________. Protein? _____ Energy? _____ [.5]











Name: _______________________________


Score: ___/ 5





First things first…


Osmosis: ___________ moves from _________ to _________. Protein? _____ Energy? ______ [.5]





Diffusion: ______________________________ moves from ________ to ________. Protein? _____ Energy? _____ [.5]





Facilitated Diffusion: ___________________ moves from ________ to ________. Protein? _____ Energy? _____ [.5]





Active Transport: ______________________ moves from ________ to ________. Protein? _____ Energy? _____ [.5]











Name: _______________________________


Score: ___/ 5











Name: _______________________________


Score: ___/ 5





Name: _______________________________


Score: ___/ 5





Name: _______________________________


Score: ___/ 5











Name: _______________________________


Score: ___/ 5





Score: ___/ 5





Label the organelles! (


(1 pt) 





Score: ___/ 5





Explain (1 pt): ____________________________________ ________________________________________________________________________________________________





Score: ___/ 5











Name: ________________ Score: ___/ 5











Part of a molecule found in cells is represented below. 












































2. Which process is most directly affected by the arrangement of components 1 through 4?


diffusion through cell membranes


fertilization of a sex cell


sequencing of amino acids in cells


increasing the number of cells in an organism





1.





2.





Name: _____________________ Score: ___/ 5











1.





Score: ___/ 5











Score: ___/ 5











Score: ___/ 5











3) State how process 1 and 2 affect the amount of genetic information provided by a parent to its offspring [1]








4) State how process 3 affects the amount of genetic information an offspring receives. [1]
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5) The direct result of fertilization is represented at 


A


B


C


D











